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2N

3 04 SXNSH(AMI=XN/ES - IIFL0HY)
S9l: oH=X S CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFMEI 2 =W 1,000,000& * 14 1,000
301 et A3z 6,260 19,620 A 13,360
09 &AL HIZ &S 5,360 6,720 A 1,360
O4diisl &4 oddl 80,0008 * 30H = 1 2,400
OJNE=Y &g s 4 ol
80,000& = 78 » 1« 560
ONWEESEA AMAFHS 23 &4 0ol
80,000& = 30¥ = 13 2,400
NIEEd=S 900 900 0
OWEHal & HAZSFTAl 2 WK ZA=
2 ol 900
—J2= 250,000& * 1AI2H » 23] 500
e = 120,000& » 1AI2+ = 23] 240
— Ol 80,000& = 12 = 23] 160
307 21201 A 44,600 30,000 14,600
02 B LA EX 9,600 0 9,600
ODAHHLEX X RE(EXZE 80%)
5,600,000& * 14! 5,600
OCtLst M& Z2ME(BEXE 80%)
4,000,000& = 14! 4,000
10 ALSISXAIEEE2GHEX 35,000 0 35,000
QuElEALHH 22 XA (BEx8 FY)
30,000,000& = 1JH A 30,000
OAUIIBSRASL 29 N (2XE FH)
5,000,000& * 14! 5,000
OG=23t=s K& 12,680 51,200 A 38,520
201 Lt 1,680 0 1,680
01 At 22l 1,680 0 1,680
OCI2S SN YOS 510 &4 28
70,0003 * 6YH « 43| 1,680
301 et a = 1,600 3,200 A 1,600
09 HALAHI E& S 1,600 3,200 A 1,600
OU=2aotE A & s FA Ol
80,000& = 2% » 10 1,600
307 glz2tol & 9,400 8,000 1,400
04 QIZFHALAIH 2 = 6,400 8,000 A 1,600
OZE0UNA 28 SOt (22X S 80%)
6,400,000& * 14! 6,400
11T MISXASEEX 3,000 0 3,000
Otz 28 &&d 22 X2
10,000& * 300 3,000
SIRRIEXH (=) 152,700 109,500 43,200
J| 122,160
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3 04 SXNSH(AMI=XN/ES - IIFL0HY)
Sel: oe=X BT EEREED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 9,162
Al 21,378
301 LBtEAZ 152,700 109,500 43,200
J| 122,160
< 9,162
Al 21,378
01 MEIBEE 263 152,700 109,500 43,200
OSE2IE HHLsH XA
1,200,000& = 120 144,000
J| 115,200
< 8,640
Al 20,160
OstR2ItE FIot2d=d X&
600,000& * 29 1,200
J| 960
< 72
Al 168
OSR2IIE ZDEEM &8ZZH|
50,000& 1509 7,500
J| 6,000
< 450
Al 1,050
SIREQIEXA (L) 143,965 155,654 A 11,689
< 29,307
Al 114,658
301 LprE A3 143,965 155,654 A11,689
= 29,307
Al 114,658
01 MEIBEE 263 143,965 155,654 A 11,689
Ost22II=E NHEXd=s 2,000,000& » 59 10,000
< 3,000
Al 7,000
OBERIE N (etesa
2,036,360& » 11 22,400
< 6,720
Al 15,680
OstR2IIE =S &Z3Hl
105,087& * 80¥ 8,407
= 2,522
Al 5,885
OstR2IIE EsHZH| 420,690 * 2209 92,552
< 13,883
Al 78,669
OstEE2I=E A W=l 815,846& = 139 10,606
< 3,182
Al 7,424
CEZMHRIAS HHEWXR(Z) 70,732 77,012 26,280
J| 56,586
=3 4,244
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22 Hg=sEX 58 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 9,902
307 21201 A 70,732 77,012 26,280
J| 56,586
=3 4,244
Al 9,902
10 ALSISXAIEEE2EHEX 70,732 0 70,732
OgZMeo=sgde XN
70,732,000& = 100 A 70,732
J| 56,586
=3 4,244
Al 9,902
CGEINEL2uESAMER2Y(T) 15,000 15,000 0
< 4,500
Al 10,500
307 glz2tol & 15,000 15,000 0
< 4,500
Al 10,500
11T MISXASEX 15,000 15,000 0
OU=sits E2usXE A RFH XA
100,000& * 159 » 103 15,000
< 4,500
Al 10,500
ALNEFRNAMHSE X2 () 84,420 83,950 470
= 42,210
< 12,663
Al 29,547
307 g1+l & 84,420 83,950 470
= 42,210
= 12,663
Al 29,547
10 ALSISXAIEEE2EH EX 84,420 0 84,420
OHZIEXNEHE 2 X&
84,420,000& * 14 84,420
= 42,210
< 12,663
Al 29,547
HAUSIEIE XA (R) 1,986 2,760 ANTT4
J| 1,589
= 119
Al 278
301 LBtE A= 1,986 2,760 ANTT74
J| 1,589
< 119
Al 278
01 MEI2BZE 05z 1,986 2,760 ANTT4
OFAHEREEIE Ots2d=d X&
993,000& = 29 1,986
J| 1,589
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= _ — d =
SA - BB B (BA) - MM - BHES e
< 119
Al 278
HEZHAHEANLSAASLE(Z) 10,080 10,080
< 2,016
Al 8,064
307 glz2+ol & 10,080 10,080
= 2,016
Al 8,064
11T MISXASEEX 10,080 10,080
OAZ2ARBANL EAX 42
1,680,000& * 6% 10,080
< 2,016
Al 8,064
IIEEZEX L Ok K& (=) 1,389 1,389
J| 780
< 127
Al 482
301 LEtE A= 960 960
J| 480
< 88
Al 392
09 HALAHIE& S 960 960
OAE=HZABEANE SAL 1S
480,000& = 29 960
J| 480
< 88
Al 392
307 glz2tol & 429 429
Il 300
S 39
Al 90
01 22272l 429 429
OJME=Y Ik 2d=Hl X
429,000& * 13 429
J| 300
< 39
Al 90
AZEYA L Oloh X XA (=) 77,713 74,997
J| 38,951
< 6,375
Al 32,387
201 LBH2E| 3,600 3,600
J| 1,800
S 540
Al 1,260
01 At 2t 2l 3,600 3,600
O0sHLtEXGH 29
3,600,000 * 14l 3,600




SN FUMEXED
HH: 4 SXSX(MS=EXN/ES - IIESLHA)
Sl a=x S (B9 ®R)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
Jl 1,800
= 540
Al 1,260
307 glztol & 74,113 71,397 2,716
Il 37,151
= 5,835
Al 31,127
012 d 2= 468 468 0
O48=Z=Ioil &t 2lgHl N3 468,0008 * 12 468
Jl 328
= 42
Al 98
04 DIZHSHALALH 2 £ 3,600 3,600 0
OotsoHgerd Hmel 3,600,000& * 14 3,600
Jl 1,800
= 540
Al 1,260
10 M SXNANEEE2SHES 70,045 0 70,045
Ong=8484 28 N
70,045,0008 * 104 70,045
Jl 35,023
= 5,253
Al 29,769
OGE3NHEXNE () 89,720 113,204 N23,484
= 19,334
Al 70,386
301 LetEa= 1,000 1,000 0
= 300
Al 700
01 MaIE2E X +0l= 1,000 1,000 0
OZ&0l2dd ws X&  1,000,0008 = 14 1,000
< 300
Al 700
307 212t0l & 88,720 112,204 N 23,484
S 19,034
Al 69,686
AR S XA E X 88,720 112,204 AN23,484
OZE0IR0Y S2ALTRY 2
28,000,000& * 14 28,000
< 5,600
Al 22,400
Ot=zotx Stz d 29 &
30,000,000& * 14 30,000
< 6,000
Al 24,000
OZ=0120d4It= 23 Ol BF
19,000,000& * 14 19,000
< 4,590
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3 04 SXNSH(AMI=XN/ES - IIFL0HY)
S9l: oH=X S CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 14,410
ot=zsits 2stgs XA
5,000,000& * 14 5,000
< 1,500
Al 3,500
OU=23ItE SXAE AR =
140,000 » 4% » 128 6,720
= 1,344
Al 5,376
OAEZATNNESXNE(T) 5,000 5,000 0
< 1,500
Al 3,500
307 glz2tol & 5,000 5,000 0
< 1,500
Al 3,500
11T M SXASEX 5,000 5,000 0
OZslltd 2¢9 5,000,000& * 10024 5,000
< 1,500
Al 3,500
OISHEESKNEHUR I ELS(2) 2,800 3,591 AT
= 1,400
< 420
Al 980
201 Let24d]| 2,800 3,591 AT
= 1,400
< 420
Al 980
01 At 22l 2,800 3,591 AT91
OOtS QRN = M= 2,800,0008! * 1Al 2,800
2 1,400
< 420
Al 980
CGestisdadHEESINE(2) 380,076 387,452 AT,376
J| 266,051
< 34,203
Al 79,822
307 gl2tol & 380,076 387,452 AT,376
J| 266,051
< 34,203
Al 79,822
10 ALl SXAIEEHE 2 H EX 282,720 0 282,720
OUIeIIEXNJAEEH 29
282,720,000& * 14l 282,720
J| 197,904
= 25,444
Al 59,372
11T MISXASEX 97,356 387,452 A 290,096




AN FUHEX S D
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S9l: oH=X S CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OUZsI=EIH HoeeE XA
58,912,000& * 14l 58,912
J| 41,236
< 5,300
Al 12,376
OZE0I2UX S - HIAAMH A
16,182,000& * 14 16,182
J| 11,327
< 1,456
Al 3,399
Ogt=0us 249 22,262,000& * 14l 22,262
J| 15,584
< 2,003
Al 4,675
HECHRNASSAIE X 27,000 18,000 9,000
307 21201 A 27,000 18,000 9,000
04 DIZHHALALSE E X 27,000 18,000 9,000
OWEHH XNAESAMY ZR(BEZE 90%)
27,000,000& * 14 27,000
HAXEXNS LS NI 16,000 10,000 6,000
307 21201 A 16,000 10,000 6,000
04 QIZFHALAIH B = 16,000 10,000 6,000
OWAXNEX d2dst WK(EXE 90%)
16,000,000 = 14l 16,000
CtE 3ot =st0t S s A2 8,000 10,000 A2,000
307 glz2tol & 8,000 10,000 A2,000
04 QIZFHALAIH E = 8,000 10,000 A 2,000
OLUE3stIts &0tg SH(EXS 90%)
8,000,000& « 14! 8,000
A2 S AR 8,000 8,000 0
307 glz2tol & 8,000 8,000 0
04 DI2HHALAISE E X 8,000 8,000 0
OW& =2t AL RIRA (X2 90%)
8,000,000& * 14 8,000
OEXNEXNRNSLBAETHIA 4,320 8,640 A4,320
301 gt d= 4,320 8,640 24,320
09 SALAHIEA S 4,320 8,640 N4,320
OWEXNEX 32, dAF & nEEF4A 0]
80,000& = 18 M * 3F » 1L 4,320
o= IS (MESX/ES - IIFLAHY) 22,195,082 22,405,193 A210,111
= 9,410,547
J| 30,145
< 7,115,057
Al 5,639,333
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el OtsExs JIEsXE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
otsEx JIHEX 22,195,082 22,405,193 A210,111
= 9,410,547
J| 30,145
< 7,115,057
Al 5,639,333
Ots K& ALY 23,825 23,825 0
201 ¢4l 1,400 1,400 0
01 At 2t 2l 1,400 1,400 0
OolsZHARAS A 4o
70,0003 = 5H « 43| 1,400
301 et d = 22,425 22,425 0
01 MI2ZE 06z 21,200 21,200 0
OAxEAHIE & IHERAE0S 21,200
— SN wMISH 1,800& = 30 » 300 16,200
—NEEHIES 500,000& * 109 5,000
MIIEEdS3 1,225 1,225 0
OREs0ts 2ARE BEa=
5,000& = 5% = 7 1,225
2sAE 1& 280,960 306,860 A 25,900
201 Let24E] 2,240 2,240 0
01 At 22l 2,240 2,240 0
OESIMUAAS HA g
70,0003 = 8H =« 43| 2,240
301 et d s 226,200 211,100 15,100
01 MEIBEZE+05l= 222,200 205,500 16,700
OQIZIN e 0ld E|wAL MR8l
80,000& = 200 = 12& 192,000
OQIZFME0IE HAR XM<oHAbl
30,0003 = 45% = 128 16,200
ORIt e old Azdl XA 14,000
— 24l 300,000& » 9HA = 13l 2,700
— ¢ ZHl 400,000 = 120 = 13 4,800
— G2l 500,000& = 1304 = 13l 6,500
09 SALAHIEA S 4,000 5,600 A 1,600
ONEold BAXL E+1s 0l
80,000& = 50H = 13l 4,000
307 gl2tol & 38,520 38,520 0
11 ALS S RALEE = 38,520 38,520 0
OAMHAHAFBE ST HHl X 38,520
— QA H| 500,000& = 3 = 12& 18,000
—ANIEE & EAS
70,0008 = 3" * 12& 2,520




SN FOIMEXED
x| XH -
L= B

el

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

20,000& = 3% » 25¢ » 123 18,000

401 AIEHIZ 2 I

©

,000 50,000 A41,000

01 A& dl
OANEOE0IE 2AtY  3,000,000& * 3

©

,000 50,000 A41,000
,000

«©

N
()
N
o
rJ
>
r
=}
™
(6]

,000 5,000 0

01 g2 tEMAEE 5,000 5,000 0

=]
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1,471,217
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1,029,852

= M W

307 21201 & 2,942,434 2,942,434 0
1,471,217

441,365
1,029,852

= W

AR S XA E X 2,942,434 2,942,434 0
OOE0lE SAX 2t
14,011,590& = 210¥ 2,942,434

1,471,217

441,365
1,029,852

= N

A0S IERH(2) 43,063 38,500 4,563
Jl 30,145

3,875
Al 9,043

H

301 et 4= 43,063 38,500 4,563
Jl 30,145
3,875
9,043

= N

01 A28 H =dl= 43,063 38,500 4,563

ogedots s+ 1,911,272& » 229 42,048
Il 29,434
= 3,784
Al 8,830
O=dJizt 21 K& 1,015,000& 18 1,015
Jl 711
91
213

= M

OlsSZEXEAZI(Z) 36,916 25,592 11,324
25,841
3,322
7,753

Z W

301 et 4= 36,916 25,592 11,324
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3,322
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FOIMET D
Ols2 S IIEXA (MBI IrEL0Y)
OlsSEs I=EXE )
= - - SHE|
SA-EY- S (SH) - MBAY - B O &t 04 e 2
Al 7,753
01 Al EE E 563 36,916 25,592 11,324
Oo0tsggX& AHA 318,241& » 1169% 36,916
= 25,841
< 3,322
Al 7,753
ZASSANA(Z) 1,082,076 1,082,076 0
< 610,271
Al 471,805
301 L2 A3 1,082,076 1,082,076 0
< 610,271
Al 471,805
01 A3l EE H =56l = 1,082,076 1,082,076 0
Osllls EZ5Y =4 323,161& = 1,569H 507,040
< 507,040
Ogss 4 316,466& = 1,569H 496,536
= 99,306
Al 397,230
OXHOISME S a
311,507& » 252H 78,500
== 3,925
Al 74,575
HaR0tsAESH(Z) 53,453 54,590 21,137
< 6,968
Al 46,485
301 L2 Az 53,453 54,590 A 1,137
< 6,968
Al 46,485
01 Al EE H 06l = 53,453 54,590 21,137
ONEAEL=E X 1,881,812& » 169% 30,109
= 3,011
Al 27,098
OENSENEW PSRN 1,157,000& = 11X 12,727
= 1,272
Al 11,455
OAxdAHIIE ¢ s WSl
351,700& = 109¥ 3,517
< 1,055
Al 2,462
OadAHIIE ¢ Ot W=l
300,000& = 74H 2,100
< 630
Al 1,470
OO0 20ts e st &
1,666,666% * 3% 5,000
< 1,000
Al 4,000
NAOtSHEH XA (=) 569,000 532,733 36,267




SN FUMBXAD
HH: OISR IEN(MBZX/BS - HEL0H)
H: olsE® JIEXE (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
= 284,500
& 85,350
Al 199,150
307 212t01 & 569,000 532,733 36,267
- 284,500
& 85,350
Al 199,150
10 Al SEXAIEEHE2IHIBX 569,000 0 569,000
OXNGYotsHH 29 K&
56,900,000& * 1000 2 569,000
= 284,500
== 85,350
Al 199, 150
OtS=EXNWAITHAX & (Z2) 83,214 120,960 N37,746
= 41,607
& 12,482
Al 29,125
101 21 21d| 83,214 120,960 N37,746
= 41,607
& 12,482
Al 29,125
04 JIZtHIZ22XNSE S 83,214 120,960 N37,746
OOts= X WA A X&  13,869,000& ~ 6H 83,214
= 41,607
= 12,482
Al 29,125
CEABEANY(R) 300,000 300,000 0
= 300,000
101 @1 21| 117,415 103,710 13,705
=2 117,415
04 JIZtHIZ22NHEE 117,415 103,710 13,705
OESYAERIE 203 XAHX 117,415
— Ol A d| 1,762,500& * 49 x 12& 84,600
= 84,600
—4HEE J|a2g2 710,583& * 128 8,527
= 8,527
— MY 20,000 » 4% = 7Y « 12& 6,720
= 6,720
—AZ2tZ224
8,500& * 49 x 20A12+ = 128 8,160
= 8,160
—n=s 4 0yl 70,000& * 4% * 63 1,680
= 1,680
—EAEE = 161,000 = 49 x 12&€ 7,728
= 7,728
201 2yt 2 Y| 51,084 119, 124 68,040
= 51,084
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el OtsExs JIEsXE (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 At 22l 18,884 99,924 A 81,040
OEEAEHEHNH 29 600,000& = 123 7,200
= 7,200
O=2ZAdz 4 =2 70,0008 * 8% * 23] 1,120
= 1,120
OEEAREZZONY 2E Otz 2
10,000& » 603 * 103l 6,000
= 6,000
OSEHAHEIDZZ)H 290 OHE &2
100,000& » 25 * 103l 2,000
= 2,000
OEEHARE SEZEEAAE Mtz
800,000& = 1CH 800
= 800
OEHAERE ME2F 222X 24
7,000& * 3Y * 7Y x 12& 1,764
= 1,764
02 23224l 7,200 7,200 0
OEEAEEHH 332l
600,000& = 12& 7,200
= 7,200
03 A2 Z Hl 25,000 12,000 13,000
OEEAEE Z2stMEg&s 3,000,0008 » 12 3,000
= 3,000
OEHAEE Atdll 22l +HHIA 2
10,000& = 20H » 10& 2,000
= 2,000
ONnsAsIEZZ20Y 29
10,000,000& * 14 10,000
= 10,000
OLEYAEE EQRSSZZNY 29
1,000,000& * 108 10,000
= 10,000
202 O4dl 3,780 3,780 0
= 3,780
01 = LHA YI 3,780 3,780 0
OEYAEE ZRF& 0l
70,0003 = 3% * 3¢ « 63l 3,780
= 3,780
301 L2 A3 107,721 41,560 66,161
= 107,721
01 Al EE H 06l = 57,371 32,300 25,071
OCEAHE OlE HU24 N
33,710& = 100& * 13/ 3,371
= 3,371
OsteX o sty X &
45,0003 = 100¥ = 123 54,000
= 54,000
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Y OISES IEXNA(ANIEXN/ES - IIESLHY)
el OtsExs JIEsXE (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
09 &AL HI B2 &S 5,350 7,260 21,910
OEEHARE ZRUE 2 28 29
25,000& = 20¥ = 10 5,000
= 5,000
OEHAERE TESAL 4
7,000& = 10¥ = 53] 350
= 350
11IIEEAS 45,000 2,000 43,000
OEEAEE NASAA &Sl
20,000& = 10¥ = 5& 1,000
= 1,000
OEHARE $UsZZ2NH 2F ZAE
500,000& = 4 = 12& 24,000
= 24,000
OEHAERE 1HMUEY 2F JAE
500,000& = 4H = 10& 20,000
= 20,000
307 21201 A 18,000 28,826 A 10,826
= 18,000
01 22724l 18,000 18,826 A 826
OEEHAERE 9 =H X
30,000& » 100 * 13l 3,000
= 3,000
OYHs U Ol ALSTAY
50,000& = 100 « 13l 5,000
= 5,000
OEEAEE Haols WEdSH XA
25,000& = 4008 13l 10,000
= 10,000
405 RHoHE S HI 2,000 3,000 21,000
= 2,000
01 et ESFH S 2,000 3,000 A 1,000
OEHAEIEMH AR EI|F(0tsE8 a4
g) 50,000& = 404 2,000
= 2,000
SR DILE X2 57,600 58,700 A 1,100
301 YU BAZ 57,600 58,700 A 1,100
01 MEI2EZE 405z 55,400 55,400 0
OMASER2IHE K& 55,400
— =SS gAlHl 30,0003 x 100E 128 36,000
— AHJls ns 300,000& * 109 3,000
—SDwd A W= 300,000& = 309 9,000
— =80 eyl 7,400
nssh 200,000& = 209 4,000
El 100,000& * 20X 2,000
ESS i 70,000& = 209 1,400
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A1,100
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= M W

7,160,113
4,653,770

752,305
1,754,038

8,521,017

1,360,904

A SN AL E X
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7,160,113,000& * 14

Z W
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= M
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24,960

A 3,840
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A 3,840
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1,322,838

N
2
ne
s
Mo
02
[

= M

6,360

1,908
4,452

6,280

80

01 AtR 22l |

Ooogold et 3 H sl 2,500& = 2,5449H

2l

Al

6,360
6,360

1,908
4,452

6,280

80

307 21201 &

= M

4,885,504

4,619,599
265,905

3,562,746

1,322,758

ARSI S XA E X

OES0ts HFMHZJIEAH

200,000& = 39

Al

4,885,504
600

180
420

3,562,746

1,322,758




AN FUHEX S D

HH: OISR IEN(MBZX/BS - HEL0H)
el otsEs JIEXHE (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
OMASE=0ls 24
9,000& = 2,873Y% * 12& 310,284
) 93,085
Al 217,199
O0gold Xt&s Al 400,000 * 290H & 11,600
= 3,480
Al 8,120
OCesto2 o1y S
10,0003 = 2599 » 12& 31,080
< 9,324
Al 21,756
OFMOtsHE0IE gas 100,000& * 39 300
=) 90
Al 210
OFcldE 4,499,640,000& * 14 4,499,640
< 4,499,640
ogu=s B3 1,200,000& = 1090 & 12,000
=) 7,800
Al 4,200
Ogltels &gdial 1,000,000& * 200H A& 20,000
< 6,000
Al 14,000
PSDNAYFAAESI(E) 257,850 233,870 23,980
= 77,354
Al 180,496
307 glztol & 257,850 233,870 23,980
= 77,354
Al 180,496
11T A SXAIEE = 257,850 233,870 23,980
OEsuiaxg 656,871& = 390 256,180
=) 76,854
Al 179,326
OZOMOtEENHA SE=2 8350008 * 2% 1,670
= 500
Al 1,170
HelolEllse22(2) 30,000 189, 190 A 159,190
= 15,000
= 4,500
Al 10,500
402 212t A= 01 & 30,000 90,000 A 60,000
= 15,000
= 4,500
Al 10,500
01 g2 tEMSEE 30,000 90,000 260,000
oogold JIse2d 30,000,000& = 14 30,000
= 15,000
=) 4,500
Al 10,500




2N
X ZH -
L= B

el

Ho
=
I
He
=
0x

= A

CHE - EI(BA) - NRAY - BYS

Off &t 24

=

i
2m

HE0IEXI&(2)

= Hn W

547,214
273,607

82,082
191,525

382,078

307 21201 &

= N H

547,214
273,607

82,082
191,525

382,078

165, 136

A S XA E =

oolgloly X&

547,214,0008 = 1

Al

=

= N W

547,214
547,214

273
82
191

,607
,082
,525

382,078

165, 136

I
0
o
cC
m
o
sl
A0
02
W

=z N W

6,000
3,000

900
2,100

6,000

=z N W

6,000
,000

900
,100

w

6,000

6,000,000& = 1

=

= MW

,000
,000

,000
900
2,100

W o, O,

6,000

= M

120,000

36,000
84,000

120,000

401 AIEHIZ 2 I

t

Al

120,000

36,000
84,000

120,000

01 A& HI

o2 &

>

120,000,000 * 1

=

120,000
120,000

36,000
84,000

120,000

S
04
02
50
4
o
>
{0
m

= N H

2,903,057
1,887,031
304,863
711,163

3,334,347

A431,290

= Hn W

2,903,057
1,887,031
304,863
711,163

3,334,347

A431,290

4

01 MBI 2 X +0l3
PSS

A
e
onggs=+g XA

41

2,903,057,000& * 1

Al
A\

A

2,903,057
2,903,057
1,887,031

3,334,347

A431,290




A FOUMET R D
N OlERS NENA(MSSN/Z] - NSL0HA)
2 OIsSE® JIIEXNHE (e H)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
[ 304,863
Al 711,163
228 02I0/& XA(2) 116,586 61,200 55,386
= 58,293
& 17,488
Al 40,805
307 2iz2to| A 116,586 61,200 55,386
= 58,293
& 17,488
Al 40,805
11T A EXAIEEX 116,586 61,200 55,386
228 0el0ld X& 58,293,000& * 204 116,586
= 58,293
o= 17,488
Al 40,805
EBFAIEHAXE 8,000 10,000 A 2,000
307 QI2t0| ™ 8,000 10,000 A 2,000
04 CIZ2tSHALALS B X 8,000 10,000 A 2,000
OES A& siAHl XK (A3, HEUa S)(
BXE 80%) 8,000,000& * 13| 8,000
el Ol AR & 12,400 3,400 9,000
301 et A= 400 400 0
09 HAIAHIBEAZ 400 400 0
Onglole JIgsttAb &4 |
80,000& = 5H x 13| 400
307 gizto| & 12,000 3,000 9,000
04 CIZ2tSHALALS B X 12,000 3,000 9,000
O0glole Megegs N (EXE 80%)
2,400,000& = 13 2,400
OaolY JI9siAl A (BXE 80%)
9,600,000& * 13| 9,600
OlSUSIAAS(2) 566,687 581,225 N 14,538
= 396,681
& 51,002
Al 119,004
307 2iz2to| A 566,687 581,225 N 14,538
= 396,681
& 51,002
Al 119,004
11T AISIEXAIEEX 566,687 581,225 N 14,538
oolol=a N 566,687,000 * 14! 566,687
= 396,681
= 51,002
Al 119,004
AASERXNL () 2,610 2,610 0




SN FOIMEXED
o OS2SR IEXNA(MIASN/2S - HEL0Y)
ol OIS RS IS EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 783
Al 1,827
301 et a = 2,610 2,610 0
< 783
Al 1,827
01 MEIBZE 2053 2,610 2,610 0
Ogdots dai28g= NF 70,0008 * 23Y¥ 1,610
< 483
Al 1,127
ogyots =dt= X 1,000,000& = 1H 1,000
< 300
Al 700
Otssttioley & M (IIAEZXE) 79,040 0 79,040
307 glz2tol & 79,040 0 79,040
10 ALSISXAIEEE 22X 79,040 0 79,040
OXdotsEsdzl2 22 XN (2HEEX
&) 79,040,000& = 14! 79,040
LoEX ST(AIEX/ Q- HAA) 55,083,027 41,458,212 13,624,815
= 41,129,921
J| 18,285
< 3,215,158
Al 10,719,663
Y 24 144,138 145,918 21,780
SHEE 2tel 144,138 145,918 A 1,780
101 14 dl 7,143 6,670 473
04 JIZHHZ2XRHEE S 7,143 6,670 473
Ost&E& & EXR 7,143
—BEEB B
44,6403 = 18 = 102 ~ 123 5,357
—HEIFH YR oA
44,6402 * 2 » 5 x 48 1,786
201 Let24E] 133,895 134,898 A1,003
01 At 2t 2l 1,000 1,000 0
Oztaa 2tel 1,000
—3EE 2eEF 7Y 50,000& = 20& 1,000
02 =224l 132,895 133,898 A 1,003
Ost&Ed dMIIR3 1,000,000& = 12& 12,000
Ot&Z MXReIBH AMEZ
200,000 * 12& 2,400
OStEE A8 S22 (40 =1k, 145.4m)
2,000,000 * 1= 2,000
Ost&EE ZHl RAUI (2], H4=2)
30,000& * 123 360




FAF
3y &

Helr o

e
0z
b
m

- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
OFtE A AN HERSH(BELH, H2)
1,700,000 * 4€ 6,800
O&Z &2 SFEU(ES)
1,679 *« 654 = 1,000+ 109,135
O&ZIE HAH| 100,000& * 14! 100
O&3H LPG JIAEA 50,0008 = 2= 100
206 M = Hl 3,100 3,750 A 650
01 X2 H| 3,100 3,750 A 650
OSEE 29 AT 10,0008 » 5= ~ 6 300
OSEZE SZE)|, HHED WE
50,000 * 204 1,000
OZEE HXF 2EXHiH 2l 450,000& = 4 1,800
LolgXx & 46,699,296 33,990,989 12,708,307
= 39,341,123
J| 18,285
= 1,355,659
Al 5,984,229
LosXsX 1,390,800 1,367,280 23,520
201 et 9| 6,000 4,080 1,920
01 AP 22| H| 6,000 4,080 1,920
oko=Ead ol 259 % 20,0000 ~ 12€ 6,000
301 et A= 1,159,200 1,144,800 14,400
01 Al E & A 462 1,159,200 1,144,800 14,400
okolsEHl X&
5,000 *« 17,000 = 122 = 90% 918,000
O&fx42 X 30,000& = 670¥ * 12& 241,200
307 QI2t0| & 225,600 218,400 7,200
04 CIZ2tSHALALS B X 4,000 0 4,000
Q0O S22 Al XIF(EXE 80%)
4.,000,000& = 14 4,000
05 QIZtREZ 210,000 210,000 0
OAMUZEE 29 210,000,000& = 14! 210,000
11T AISIEXAIEEX 11,600 8,400 3,200
OR9o &0l MAA XtdE=2lD]
30,0008 = 1209 3,600
OSHA &R AlAE 22/H] XS
8,000,000& = 1JH A 8,000
LOIAS E2SEN XA 18,200 75,800 A 57,600
301 et A= 3,200 5,600 A 2,400
09 HAIAHI B A Z 3,200 5,600 A 2,400
OLolold JEsiAl 4 |
80,000& * 10¥ » 1< 800




SN FOIMEXED
Y Lo=2X SH(AEEX/ L0 - FHad)
ool Lo=X FX (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OLXNEXR us 4
80,000& = 109 » 1« 800
Ookesiad us &4 ol
80,000& = 109 » 1« 800
OLoAd2=HM &It o4l
80,000& = 109 » 1« 800
307 glz2tol & 15,000 70,200 A 55,200
04 QIZFHALAIH E &= 15,000 70,200 A 55,200
Oxolog JIEdA 15,000
— oS M SHE  15,000,000& * 14 15,000
COIAARNAS(Z) 1,360 1,350 10
< 204
Al 1,156
301 et d=s 1,360 1,350 10
< 204
Al 1,156
01 Ml2EZE 46z 1,360 1,350 10
Ookorazatt 40,000 * 349 1,360
< 204
Al 1,156
FPOEHLEZWLLARZII(Z) 30,940 30,940 0
< 7,735
Al 23,205
307 glz2tol & 30,940 30,940 0
< 7,735
Al 23,205
11T MISXASEX 30,940 30,940 0
ORAgLo AASSHE & AF2D|
36,400& = 850 30,940
< 7,735
Al 23,205
I=ASXA(Z) 41,782,877 29,601,649 12,181,228
= 37,604,590
< 835,657
Al 3,342,630
301 et a = 41,782,877 29,601,649 12,181,228
= 37,604,590
< 835,657
Al 3,342,630
01 MEIBEE 2053 41,782,877 29,601,649 12,181,228
OJdlz=a K& 41,782,877,000& * 14 41,782,877
= 37,604,590
< 835,657
Al 3,342,630
HASTHIL=AABE (Z) 81,030 81,030 0
< 8,103




SN FOIMEXED
Y Lo=2X SH(AEEX/ L0 - FHad)
el wol=X EA CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 72,927
307 21201 A 81,030 81,030 0
< 8,103
Al 72,927
11T MISAASER 81,030 81,030 0
OMASTHItECl AALHHE
1,095,000& = 749H 81,030
< 8,103
Al 72,927
ARAYL2IANY(T) 162,641 162,641 0
< 16,264
Al 146,377
307 glz2tol & 162,641 162,641 0
< 16,264
Al 146,377
11T MISXASEX 162,641 162,641 0
OZzAg Fas4 415,961& = 3914 162,641
< 16,264
Al 146,377
ConARY () 24,000 24,000 0
< 7,200
Al 16,800
307 21201 A 24,000 24,000 0
< 7,200
Al 16,800
11 AL SXAIEE = 24,000 24,000 0
Okona 24 3,000,000& * 8IH A 24,000
< 7,200
Al 16,800
AT BASRY(E) 7,000 7,000 0
< 2,100
Al 4,900
307 glz2tol & 7,000 7,000 0
= 2,100
Al 4,900
11T M SRASE EX 7,000 7,000 0
OaHTHtASAMHE 29 7,000,000& * 1JH A 7,000
= 2,100
Al 4,900
LOESB0IXE (=) 522,648 604,800 A82,152
= 365,853
< 47,039
Al 109,756
307 21201 A 522,648 604,800 A 82,152
= 365,853
< 47,039




AN FRMSTA L
Y Lo=2X SH(AEEX/ L0 - FHad)
el LosX & (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 109,756
05 RIZt2IE = 522,648 604,800 A 82,152
Okolss sgAMdA XA
3,024,000 = 1689H 508,032
= 355,622
< 45,723
Al 106,687
OEIIIbALA I A KT & 504,000& = 299 14,616
= 10,231
= 1,316
Al 3,069
SHEQ MERALAN THAAR (2) 449,850 429,759 20,091
= 314,895
< 40,486
Al 94,469
307 gl2tol & 449,850 429,759 20,091
= 314,895
< 40,486
Al 94,469
05 BIZHRI & 3 449,850 429,759 20,091
Ookolss Jl2MdblA XI&
10,461,627& * 43H 449,850
= 314,895
< 40,486
Al 94,469
Lol T2l AP X2 (=) ,671,570 1,522,750 148,820
= 835,785
< 250,733
Al 585,052
101 @1 A Hl 371,990 578,990 207,000
= 185,995
< 55,798
Al 130,197
04 JIZHHZ2XNHEE S 371,990 578,990 A 207,000
OLolgdXiel XN (I 2dMgolar ol2y|)
11,990,000& * 19H 11,990
= 5,995
< 1,798
Al 4,197
OkolgdRxiel NA(MIBSEHE HOX 2124H])
1,800,000& * 200 360,000
= 180,000
< 54,000
Al 126,000
206 M= Hl 28,000 15,000 13,000
= 14,000
< 4,200
Al 9,800




2N
X ZH -
L= B

el

Pl
>
for
2
=
~
H
re
o
k>
i

0l &t o

=

i
2m

ol

o

IXtel X2 (MEBEE 0 U

140,000& = 2009

= W

28,000

28,000
14,000
4,200
9,800

,000

307

= MW

1,271,580
635,790
190,735
445,055

928,

760

342,820

05

ALY X3

2,057,572& * 618H

= N W

1,271,580
1,271,580

635,790
190,735
445,065

928,

760

342,820

oy

el X (E)

= N

72,810

21,853
50,957

62,

10,000

H

Al

32,810

9,853
22,957

32,

04

ASE

g olgditielAg K&

1,930,000& = 179X

H

Al

32,810

32,810

9,853
22,957

32,

307

Al

40,000

12,000
28,000

30,

000

10,000

05

Lol Rl ALY JHHl XI&

40,000,000& * 1JH 24

m

Al

40,000

40,000

12,000
28,000

30,

000

10,000

H

Al

6,000

1,800
4,200

,000

307

Al

6,000

1,800
4,200

,000

A2l S TIAY 2 X

OYOY0Z &

43t XA

(o]
=

3,000,000& = 2044

M

Al

6,000

6,000

1,800
4,200

,000

Jl

36,570
18,285

,180

23,390




2N
X ZH -
L= B

el

e
0z
b
m

0l &t o

=

i
2m

H

Al

5,485
12,800

307 21201 A

Jl

= H

20,070
10,035
3,010
7,025

13,180

6,890

05 QIZtRIE =2
[¢]

s20 2¢
1

82,454 » 110

J|

Al

20,070

20,070
10,035
3,010
7,025

13,180

6,890

401 AIEBIZ 2 THEI

Il

= M

16,500
8,250
2,475
5,775

16,500

01 A& HI

OSsHE s=atd

a1

s200 +#

A

330,000 * 509

Jl

16,500

16,500
8,250
2,475
5,775

16,500

= W

440,000
220,000
110,000
110,000

440,000

401 AIEBIZ S CHYI

= MW

440,000
220,000
110,000
110,000

440,000

01 A€ dl

OSIEAE &EXNA

440,000,000& * 14!

= W

440,000

440,000
220,000
110,000
110,000

440,000

f

1,000
1,000

1,000

tn

1,000
1,000

1,000

1,000,000& = 14

H

1,000

1,000
1,000

1,000

=z W

2,177,677
159,594
394,031

1,624,052

1,847,512

330, 165




SN FUMEXED
M Lol=N SA(AB=X /0 - HAd)
Sel: ARY 2YMY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
22" 29 757,824 687,972 69,852
301 et d s 99,500 100, 100 A 600
01 MEIEBEZE+06l= 95,100 94,600 500
OZ2gY FSHHY X
250,000& * 3300H £ 82,500
OAXz & 23ldzY 29|
150,000& » 21004 = 43| 12,600
NJEEd=s 4,400 5,500 A1,100
ColdltelAleY HIO 29 A4 4,400
—i®= 1,500,000& * 1JH A 1,500
— 2= 1,000,000& * 204 A& 2,000
— & 300,000& » 30H A 900
307 gl2tol & 138,324 87,872 50,452
02 It HAHE L 29,580 0 29,580
OkeldlE ==& 60,0008 * 245 14 1,440
OXguzE 2=2X3
5,000& * 335004 * 28 * 128 » 70% 28,140
10 ALSISEXAIEEE2GHEX 67,744 0 67,744
OZzgeslmz gzt oAd(BExE &
H) 27,744
— QI 24 H| 1,800,000& * 1& » 12& 21,600
— AM3E2E 21,600,000& * 9% 1,944
— 24 200,000& = 1&¥ = 123 2,400
— S ANE S 1,800,000& * 1 1,800
OUsols AN 2L (228 FH)
40,000,000& = 14 40,000
11T MISXASEX 41,000 87,872 A 46,872
O3B (OAEE) MY N
350,000& = 52 = 123 21,000
OZdzd Tz K& 400,000& *» 50 20,000
402 RI2HXt20l ™ 520,000 500,000 20,000
01 A TtEAEER 520,000 500,000 20,000
OHAX =M A 100,000
— 20 =Y UF(BEx8 FA)
100,000,000& * 1= 100,000
OZ2Y E= 5,000,000& = 66= 330,000
OZzY 28 NA(2xs FY)
1,000,000& = 50= 50,000
O3SFAHYE(OEE) ME 2=
8,000,000& = 5JH A 40,000
dz2g XNA(T) 781,478 690, 338 91,140
< 138,681
Al 642,797




FAF
3y &
2:

el

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

301 gEtE A= 711,478 690, 338 21,140

103,681
607,797

= M

RSESES B 711,478 690, 338 21,140
OoZ2g 2g X& 1,219,8423 = 33000 & 402,548

41,895
360,653

= M

OZ2Y SEHEH NFAY

787,760& * 33000 A& 259,961
51,992
Al 207,969

H

130,209& = 33000 & 42,969

8,594
Al 34,375

H

3,000,000& = 20H 4 6,000

1,200
4,800

= M

402 2I2tXE201 & 70,000 0 70,000

35,000
Al 35,000

H

01 AT EAIEE X 70,000 0 70,000
OZ2Y clZEE A  17,500,0008& * 404 2 70,000

35,000
35,000

= M

FR2YSEIILLHIXR(2) 528,000 358,799 169,201
132,000
211,200
184,800

= 0N W

301 gEtE &= 528,000 358,799 169,201
132,000
211,200
184,800

= N W

RSESES B 528,000 358,799 169,201
OZ2Y SEI| & XA

1,500,000& = 3309H & 495,000

123,750

198,000

173,250

0!

= MW

OZZY Yol XY

10,0008 * 33074 2 33,000
8,250
13,200
11,550

= H W

2L RHIXE(

H

110,375 110,403 A28

27,594
44,150

oy




2N

M Lol=N SA(ABEX /=0 - HA)
Sel: ARY 2YMY (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 38,631
301 et A= 110,375 110,403 A28
= 27,594
& 44 150
Al 38,631
01 Al B & A 46 2 110,375 110,403 A28
OZz Y 2=2dl XNSIAY
334,469% * 33000 A 110,375
= 27,594
= 44 150
Al 38,631
AMNBIE2XAE XA 6,061,916 5,473,793 588, 123
= 1,629,204
& 1,465,468
Al 2,967,244
ANSIEXAE XS 52,200 47,400 4,800
301 LEtE A= 26,400 26,400 0
01 Al B & A 462 26,400 26,400 0
OGE L AU AMIASBXAILE MEX /A2
8,000& = 1,100 = 33l 26,400
307 2iz2to| & 25,800 21,000 4,800
11T AISIEXAIEEX 25,800 21,000 4,800
OSHLE &AL DEH K&
50,000 * 439H » 12€ 25,800
LOIANAER2Y9(E) 3,152,517 4,205,693 N1,053,176
& 945,755
Al 2,206,762
307 2Iz2t0| & 990,000 1,705,693 AT715,693
= 297,000
Al 693,000
11T A EXAIEEX 990,000 1,705,693 AT715,693
OLQQAANALE 29H XN
3,093,750& * 320H 990,000
& 297,000
Al 693,000
308 XHXIEHSOIA 2,162,517 2,500,000 N 337,483
== 648,755
Al 1,513,762
10 JIEIR E = 2,162,517 2,500,000 A 337,483
ORIQABE XNXNHHEE2
7,668,500 * 282H 2,162,517
= 648,755
Al 1,513,762
LOIEXAYE AT N (F) 26,480 27,120 A 640
= 7,944
Al 18,536




SN FOIMEXE D
M. LoI=X EA(ASSN/ w0l HAl)
&2 MEEXAIE X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 26,480 27,120 A 640
< 7,944
Al 18,536
11T MISXASEX 26,480 27,120 A 640
OANdEsLe a&22d XI&
20,0003 = 5599 11,180
< 3,354
Al 7,826
OLQSRAL AT 2HRA &L ZFH X
& 55,000& = 609 3,300
< 990
Al 2,310
OLQYZAL T208 294 N2
12,000,000 = 1002 12,000
= 3,600
Al 8,400
Mot SXNHdHRIE(E) 120,000 120,000 0
< 4,800
Al 115,200
307 glz2tol & 120,000 120,000 0
< 4,800
Al 115,200
10 ALSISXAIEEE2EHEX 120,000 0 120,000
OMItcAd=XME 234 X
120,000,000 = 1JH 2 120,000
< 4,800
Al 115,200
LOISTAIE JSEAAY () 3,000 77,000 AT4,000
2 1,500
< 450
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01 2LHO0i tl 64,000 64,000
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